Vesas

Vocas Systems b.v. info@vocas.com www.vocas.com
Follow focus manual focus controller MFC-1 exploded

0500-0001
Version Date: 30-10-2012 9:49

Item No. Part Number Qty

© 00 NO Ol WDN B

W W W WWwWWwWNDNDNDNDNDNMNDNNMNNMNNNNRFRPRERPRPERPRPRPERPERPRERER
N o o0 WONPFPOOOONOOOOPM~AWDNPEPOOONOOO G PA~AWDNDPREO

04.004.02
05.002.01
769001

05.003.03
05.004.02
05.005.02
05.006.01
749001

05.007.01
05.009.02
05.010.01
05.011.02
05.012.01
746101

05.014.02
740002

05.013.01
05.015.01
05.016.01
05.017.01
01.043.01
05.019.01
05.020.01
05.018.01
05.021.01
05.022.01
05.023.03
05.024.01
02.016.01
05.025.01
05.027.01
05.028.01
05.001.02
03.014.01
05.008.03
05.049.01
04.040.02

1

1
1
1
1
1
1
1
1
1
2
1
1
1
1
2
1
1
1
1
2
1
1
2
4
1
1
1
2
1
1
1
1
1
1
1
1

Description
Clamper mkll SG
Clamp bolt short
Pin 2h6X10 1SO873
Bracket 15mm
Winged nut M4
Screw M4x16
Circlip DIN6799-3,...
Ring M4 BLGEST-...
Gear housing
Scale
Screw M2,5x3 DIN...
Cap
Screw M3x5 DIN 7...
Bearing 2mm
Excentrical bearing
Pin 2h6X8 1SO8734
Lable FF
Secundairy axel
Bearing 5x11x5,5
Bearing 7x5x3,5
Pin 2X10 1SO8752...
Pin 2X8 I1ISO8752 ...
Crossed helical g...
Gear flange
Screw M3X6 DIN9...
Flanged ball beari...
Follow focus knob
Screw M2X3 DIN 9..
Preasure piece M...
Rotation lock pin
Spring 4.32x8.7x0....
Rotation lock knob
Toothed Primairy ...
Label Vocas
Outer housing
Circlip DIN471 18...
Hexagonal lock nut




